



\$0.00

St. Louis County, Minnesota

Date of Report: 12/14/2025 3:49:50 PM

2025 - Total Due

\$0.00

		General Details								
Parcel ID:	141-0060-04670	Goriorai Botano								
Legal Description Details										
Plat Name:	HIBBING									
Section	Town	ship Range	•	Lot	Block					
30	58	3 21		-	-					
Description:	SE 1/4 OF NE 1/4	4								
Taxpayer Details										
Taxpayer Name	KUUSINEN DON									
and Address:	920 SW 3RD AVE									
	GRAND RAPIDS	MN 55744								
		Owner Details								
Owner Name	KUSINEN DONAI	LD ETAL								
		Payable 2025 Tax Su	mmary							
	2025 - Net Ta		\$1,880.00							
2025 - Special Assessments				\$0.00						
2025 - Total Tax & Special Assessments \$1,880.00										
Current Tax Due (as of 12/13/2025)										
Due May 15	•	Due October 15	5	Total Due						
2025 - 1st Half Tax	\$940.00	2025 - 2nd Half Tax	\$940.00	2025 - 1st Half Tax Due	\$0.00					
2025 - 1st Half Tax Paid	\$940.00	2025 - 2nd Half Tax Paid	\$940.00	2025 - 2nd Half Tax Due	\$0.00					

Parcel Details

2025 - 2nd Half Due

Property Address: 5037 KUSSINEN RD, HIBBING MN

\$0.00

School District: 701
Tax Increment District: Property/Homesteader: -

2025 - 1st Half Due

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
151	0 - Non Homestead	\$23,100	\$61,700	\$84,800	\$0	\$0	-		
112	0 - Non Homestead	\$27,800	\$0	\$27,800	\$0	\$0	-		
	Total:	\$50,900	\$61,700	\$112,600	\$0	\$0	1029		





St. Louis County, Minnesota

Date of Report: 12/14/2025 3:49:50 PM

			Land De	etails		
Deeded Acres:	40.00					
Waterfront:	-					
Water Front Feet:	0.00					
Water Code & Desc:	-					
Gas Code & Desc:	-					
Sewer Code & Desc:	-					
Lot Width:	0.00					
Lot Depth:	0.00					
The dimensions shown are no https://apps.stlouiscountymn.	ot guaranteed to be sur gov/webPlatsIframe/frn	vey quality. An PlatStatPopl	Additional lot Up.aspx. If th	information can b nere are any ques	e found at tions, please email PropertyT	ax@stlouiscountymn.gov.
	In	nproveme	nt 1 Detai	ils (HUNT SHA	ACK)	
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Area Ft ² Basement Finish Style Co	
HOUSE	1980	576	6	576	-	HSK - HUNT SHACK
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	18	32	576	POST ON GR	ROUND
Bath Count	Bedroom Cou	nt	Room C	ount	Fireplace Count	HVAC
0.0 BATHS	1 BEDROOM		2 ROOM	MS	- 5	STOVE/SPCE, WOOD
	ı	mproveme	ent 2 Deta	ails (POLE SH	IED)	
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
POLE BUILDING	2003	1,15	52	1,152	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	32	36	1,152	FLOATING	SLAB
LT	0	12	36	432	POST ON GR	ROUND
		Improvem	ent 3 Det	ails (OLD SLI	PR)	
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
SLEEPER	0	192	2	192	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	12	16	192	POST ON GR	ROUND
OPX	0	12	10	120	POST ON GR	ROUND
		Improvem	ent 4 Det	ails (NEW SL	PR)	
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.
SLEEPER	2015	256	6	256	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	16	16	256	POST ON GR	ROUND
OPX	0	10	16	160	POST ON GR	ROUND
		Improve	ment 5 D	etails (SAUNA	4)	
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.
SAUNA	0	96		96	-	-
Segment	Story	Width	Length	Area	Foundat	ion
BAS	1	8	12	96	POST ON GR	





St. Louis County, Minnesota

Date of Report: 12/14/2025 3:49:50 PM

			nent 6 Details	•					
Improvement Type Year Built					Basement Finish Style Code & Des				
	STORAGE BUILDING 0		48 48						
Segment Story		•	Width Length Ar		Foundation				
BAS 0		8	8 6 48			POST ON GROUND			
		Improvem	ent 7 Details (\	WOODSHED)					
Improvement Typ	e Year Built	Main Flo	oor Ft ² Gross	S Area Ft ² Bas	sement Finish Style Code & De				
STORAGE BUILDIN	NG 0	99	9	99					
Segme		•	.		Found				
BAS	0	9	11	99	POST ON (GROUND			
		Sales Reported	to the St. Lou	is County Audito	or				
No Sales informa	tion reported.								
	·	Λ.	ssessment His	tory					
	Class	A	ssessifient mis	itor y	Def	Def			
Year	Code (Legend)	Land EMV	Bldg EMV	Total EMV	Land EMV	Bldg EMV	Net Tax Capacity		
i eai	151	\$27,700	\$68.800	\$96,500	\$0	\$0	- Сараспу		
2024 Davable 2025	112	\$34.700	\$0	\$34,700	\$0	\$0	_		
2024 Payable 2025	Total	\$62,400	\$68,800	\$131,200	\$0	\$0	1,191.00		
	151	\$27,700	\$63,800	\$91,500	\$0	\$0	-		
2023 Payable 2024	112	\$34,700	\$0	\$34,700	\$0	\$0	-		
2020 1 dyddio 202 1	Total	\$62,400	\$63,800	\$126,200	\$0	\$0	1,141.00		
	151	\$22,400	\$45,600	\$68,000	\$0	\$0	-		
2022 Payable 2023	112	\$26,700	\$0	\$26,700	\$0	\$0	-		
,	Total	\$49,100	\$45,600	\$94,700	\$0	\$0	854.00		
	151	\$20,200	\$43.500	\$63,700	\$0	\$0	-		
2021 Pavable 2022	101								
2021 Pavable 2022	112	\$23,200	\$0	\$23,200	\$0	\$0	-		
2021 Payable 2022		\$23,200 \$43,400	+ -,		\$0 \$0	\$0 \$0	788.00		
2021 Payable 2022	112	\$43,400	\$0	\$23,200 \$86,900	, , , , , , , , , , , , , , , , , , ,	, ,			
2021 Payable 2022	112	\$43,400	\$0 \$43,500 Fax Detail Hist	\$23,200 \$86,900	, , , , , , , , , , , , , , , , , , ,	, ,			
2021 Payable 2022 Tax Year	112	\$43,400	\$0 \$43,500	\$23,200 \$86,900	\$0 Taxable Bui	\$0	788.00		
,	112 Total	\$43,400 Special Assessments	\$0 \$43,500 Fax Detail History Total Tax & Special	\$23,200 \$86,900 Ory	\$0 Taxable Bui	\$0	788.00		
Tax Year	112 Total Tax	\$43,400	\$0 \$43,500 Fax Detail Hist Total Tax & Special Assessments	\$23,200 \$86,900 Dry	\$0 Taxable Bui	\$0 Iding Tota			





St. Louis County, Minnesota

Date of Report: 12/14/2025 3:49:50 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.